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Questions & Answers (Set 4) 

 

1. With respect the answer number 2 given in the 

"IRIS_IDIQ_RFP_Questions_and_Answers_(Set_3)_Final.pdf it says: 

"consistent with the +/-10 degree C operating range without requiring re-

centering", however a later requirement "Temperature range over which no mass 

centering is required" is given as +/- 2 degrees C.  

  Can you please clarify which is correct?  

Answer:  The +/-10 degree C operating range without requiring re-centering is correct and 

applies to Attachment A lines 15, 40, 60 and 85. 

 

2. Moreover, we note that the answer number 10 in the "IRIS_IDIQ_RFP_Pre-

Proposal_Conference_Minutes_FINAL-revised.pdf" changes that "+/-2 degree C to 

+/- 0.05 deg C", which cannot be correct.  Please clarify. 

Answer:  The +/- 0.05 degree C was incorrect.  The correct specification should be +/-10 

degree C. 


